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QUESTION 1

Which representation is most suitable for a small and highly connected network? 

A. Edge list 

B. Adjacency matrix 

C. Eigenvector centrality 

D. Adjacency list 

Correct Answer: B 

 

QUESTION 2

What is an intended application of the MapReduce framework? 

A. Processing can be broken into smaller pieces 

B. Processing a large number of small files 

C. Processing in real time is required 

D. Processing a small subset of data 

Correct Answer: A 

 

QUESTION 3

Consider dataset that resides in HDFS. Which tool natively provides the capability to run a Random Forests model
against this data? 

A. Mahout 

B. Pig 

C. Hive 

D. HBase 

Correct Answer: A 

 

QUESTION 4

After a client submits a job request to the YARN ResourceManager, what happens next? 

A. The scheduler allocates a container to run an ApplicationMaster 
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B. The ResourceManager allocates containers to run map and reduce tasks 

C. The Resource Manager requests load data from the NodeManagers 

D. The ApplicationManager starts an ApplicationMaster 

Correct Answer: D 

 

QUESTION 5

In a connected, undirected graph of 5 nodes with 10 edges, how many more edges need to be added to make the
clustering coefficient of every node equal 1 ? 

A. 0 

B. 5 

C. 10 

D. 15 

Correct Answer: A 
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